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	LESSON OBJECTIVES
	The learners must be able to:

· Do a genetic cross on co – dominance 
· Explain genetic concepts of incomplete dominance and co -  dominance 


	TEACHER ACTIVITIES
	LEARNER ACTIVITIES
	TIMING
	RESOURCES NEEDED

	Introduction:
Revise concepts of recessive and dominant.
There are three types of dominance: 

-Complete dominance (we have done this with dominant and recessive traits)

-Incomplete dominance

- Co- dominance

Main Body (Lesson presentation)

CO- DOMINANCE 
occurs when two homozygous individuals for a particular trait is crossed and both the traits are represented in the phenotype of the offspring.

Teacher writes an example on board /transparency ON CO –DOMINANCE, where both the genotypes express themselves in the phenotype.

eg. A black cow mates with white cow and all the calves in the F1 are black with white spots. Red flower with white flower gives you a white flower with red spots.
INCOMPLETE DOMINANCE 
When two homozygous   (pure breeding)individuals are crossed with each other and the offspring have intermediate forms of the parents’ traits, it is known as INCOMPLETE DOMINANCE .
 In Incomplete Dominance, two different alleles combine to create an intermediate phenotype of a given trait i.e. when two heterozygous parents cross; the offspring look like a blend of the characteristics of the two parents. A typical example would be a cross between a Red flowering snapdragon) and a  White flowering snapdragon both will yield Pink flowering snapdragon 
Explain to learners that: 
·  We CANNOT use capital letter and a small letter for the two alleles as this would suggest that one was dominant and the other was recessive, which is not the case here. 
· For incomplete dominance and for co-dominance TWO DIFFERENT CAPITAL LETTERS are used to represent alleles. 
Conclusion:
Allow learners to do the following  example on  incomplete dominance.
In a certain breed of cattle, coat colour may be red(R), white(W) or roan(RW). Roan is a light reddish brown colour. 
a) Choose suitable symbols for the allele for red and white coat colour.
b) Provide three genotypes and phenotypes as indicated from the information given.
c) A learner crossed a homozygous dominant pea plant and a homozygous recessive pea plant. Show all the possible genotypes and phenotypes of the F1 generation obtained in this cross.

Educators supervise and guides learners as they work out examples.
	Discuss / work in your groups to solve the genetic problems given to you by your teacher and discuss your findings then present your answers  to the rest of the class
Learners must take down  the following example of a genetic cross to show INCOMPLETE DOMINANCE :
 Homozygous red flower   X  Homozygous white flower ( phenotype)

 P1…….     RR                          X       WW genotype)

…MEIOSIS…………………………

     R      R                   W      W. gametes
RW       RW            RW          RW…….                   .F1 …genotype
     All 100% Pink ……………………………………phenotype
Neither red nor pink is dominant in the F1 phenotype but a new characteristic is shown – this is incomplete dominance.
Learners complete examples in their workbook and compare the genetic crosses of complete, co- and incomplete dominance.

	10 min

20min

10 min

	Worksheets with different examples indicated under teacher activity to be given to learners to prevent wasting time of learners taking questions down from chalkboard.
CAPS Solutions for All – Life Science Gr 12 by McMillan 

SIIP Booklets for 2016 compiled Question papers and answer booklets 

Worksheets 

Focus on Life science CAPS Gr 12 by Maskew Miller

Understanding Life science Gr.12 by T Isaac – 3rd Edition

Life Science Gr 12 – Top Class by Shuter’s.

Via Afrika Life Science GR 12 (CAP
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